REGISTRATION NUMBER :

EXAM DATE : 29-August-2016

EXAM NAME : SSC Examination 2016
TOTAL MARKS : 200

Question 1.Select the related word/letters/number from the given alternatives.

R M faepedl & & Fafad 2rea/31eRY~TEaT B gAgl
FUNGI: MYCOLOGY:: TISSUE: 22

PPN BIP fasm - Fae: 2
Options:

1) Haematology

EGRIGSICE

2) Cytology

PIABTARAA

3) Histology

FdbaTH

4) Bacteriology

Correct Answer: Histology

Candidate Answer: Histology

ECaCSIE]

Question 2.Select the related word/letters/number from the given alternatives.

& T faped! # & Hafd 2rea/318R1/HwaT &1 gfAgl
BDFH : YWUS :: JLNP : ?

Options:

1) QOMK

2) ACEF

3) ZXUT

4) UVWX
Correct Answer: QOMK
Candidate Answer: QOMK

Question 3.Select the related word/letters/number from the given alternatives.

oA ™ et o & Tafi 2reey31eRi/e & gfv
18:30::36:?

Options:

1)78

2) 64

3) 66

4) 68
Correct Answer: 66
Candidate Answer: 66

Question 4.
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For the following questions

Find out the odd word/letters/number pair from the given alternatives

Rw Mo faeedt & I fww ereey T 318RAg™ AT
Options:

1) Arithmetic

3fepTfora

2) Mathematics

Tfora

3) Geometry

SaTfeet

4) Algebra

o

Correct Answer: Mathematics

Tfora

Candidate Answer: Mathematics

Tfora

Question 5.

For the following questions

Find out the odd word/letters/number pair from the given alternatives

g g faepedt # 9 faww eree/ T/ s1aR/g™ gAY

Options:
1) ACEG

2) BDFG
3) JLNP

4) SUWY
Correct Answer: BDFG
Candidate Answer: BDFG

Question 6.

For the following questions

Find out the odd word/letters/number pair from the given alternatives

Tow Y ferebedt o & farvm 2ree/ HA/ 31aR/g™ AT

Options:
1) 16,32

2) 20, 40
3) 64, 81

4) 81,162
Correct Answer: 64, 81
Candidate Answer: 64, 81

Question 7.Arrange the following words as per order in the dictionary

FAfafEa ereal @ 2regeprer # &g Mg %W & 31gaR fafEg)
1. Weather 2. Weasand 3. Wealth 4. Weapon 5. Weekend
Options:

1)3,2,4,1,5

2)3,2,14,5

3)3,4,2,1,5

4)3,4,1,2,5



Correct Answer: 3,4,2,1,5
Candidate Answer: 3,4,2.1,5

Question 8.Choose the correct alternative from the given ones that will complete the series

o e et # & a8 WEl feed gy S 31geH B A
BFK, KOT, UYD,?

Options:

1) BFI

2) ADG

3) FIO

4) PSX
Correct Answer: FJO
Candidate Answer: FJO

Question 9.Find the missing number in the series

@ E Joft ¥ & G e AT BISRY |
2,3,8,9, 112, 565

Options:

1) 565

2) 112

3)27

4)8
Correct Answer: 27
Candidate Answer: 27

Question 10.A woman pointing to a man said, "He is the widower of my uncle's brother's daughter." How is the man related to the woman?

b Higel Ueb 3TTCHT W 3R S2ART BYd §Y Ped ¢ 1o "G WY AT &b TS b 9t T LR 81 I8 TSI 39 37Ra I b TR gIf=a 2 2

Options:
1) Brother-in-law

TEE

2) Brother

RIES

3) Uncle

BIEL

4) Nephew

HTASTIASTT

Correct Answer: Brother-in-law
CESIE

Candidate Answer: Brother-in-law

S

Question 11.P, Q, R and S are four friends. P is shorter than Q but taller than R who is shorter than S. Who is the shortest among all?

PQR,IRS TR AT &I daE N PQ A BT e AfeT RAFGT R SN S A BT &1 370 TSI BT BH 8 2

Options:
P

2)Q
3)R

4)S
Correct Answer: R
Candidate Answer: R

Question 12.From the given alternative words, select the word which cannot be formed using the letter of the given word.

FAfeif@Ed faeed § & a8 2rea gAY =it ey TV 2re 3 A&RY BT TR Beebs Tel ST ST FebelT|
IMPRACTICABLE

Options:

1) CAPABLE

2) PARTICLE



3) PRACTICAL
4) PEACE

Correct Answer: PEACE
Candidate Answer: PEACE

Question 13.If BROTHER is coded as GWTYMJW, then SCHOOL is coded as

& U P ¥ 'BROTHER' &Y 'GWTYMIW ' foa STrdm 2, aY 39 Pis § 'SCHOOL' Y 3T faye s 2

Options:
1) WGLSSP

2) WGLSSQ
3) XHMTTQ

4) XHMTTP
Correct Answer: XHMTTQ
Candidate Answer: XHMTTQ

Question 14.If '+' means subtraction, '+' means addition, '<' means multiplication and ">' means division, then find the value of the given statement,
The value of 9 + 7 <8 > (4>2) + 5 will be

IfE '+ BT AT & T, '+ BT 7deTd & SiT, '<! &1 Aaed & O 3R > BT Adeld & 1T, a1 39 aaaed BT 717 J1d P |
9+7<8>(4>2)+5

Options:

1)32

2)18

3)16

4) 11
Correct Answer: 32
Candidate Answer: 32

Question 15.If 5 * 3 =19 and 8 * 5 =49, then what should 6 * 4 be?

gfE5* 3 =19 3R 8 * 5=49, A 6 * 4 T ST ALY ?

Options:
1) 24

2)28
3)18

4) 16
Correct Answer: 28
Candidate Answer: 28

Question 16.Select the missing number from the given responses.

FRafeifad wed o e srgepd o man €, TS ves Ha o 21 3y MY faebed] o 3 39 HeT arees a7 PRI W Hel It A [dfEy]

24 20 36
15 11 18
55 40 ?

Options:

1) 45

2)65

3)70

4) 80

Correct Answer: 65
Candidate Answer: [ NOT ANSWERED ]

Question 17.A man walks 7 km towards south and turns to the left. After walking 5 km, he turns to the right and walks 7 km. In which direction is he now from the starting point?



TP 317eHY 7 1351 <feior Bt 3R 71T & 3R 918 g3 STrat 1 5 o6 HY. Ter & 1e a8 &t gear € 3R 7 .. Tt 1 3 a8 wRfAie g A fha fen ¥ &
Options:

1) West

ufesy

2) South

Efaror

3) South-East

afaior-gd

4) North-East

IR

Correct Answer: South-East
farorgd

Candidate Answer: South-East

afaior-gd

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement 1: When water is cooled, it turns into ice.

Statement 2: When water is heated, it turns into steam.

Conclusion I: Water is a solid.

Conclusion II: Water is a gas.

Freafefaa geT & v a1 < gade & T 2, fSraes 3mY & fses/mr=aarg, 1 31k 11 fssre T &1 3nmue! faaR o<1 € 3 aarred e @ ame a8 amr=a: ord qeat 3 it wdta grar &
et Aot T & o T 0 garted & I -1 fAfsa o0 I T8t fsms/mmadT e ot gear g 2

gaed | 19 U SUST 81T & a4 98 I H 9&ef offal gl

qeRTed 2 : 519 T I TRE T ST & Y a8 9T & gect Sirar 21

fivig 1 . STA IR

fivfa 2 . ST 1

Options:

1) Only Conclusion I follows

PBact e 1 T8 21

2) Only Conclusion II follows

et Fspy 11 TET 21

3) Both I and II follow

fAeee 1 3R 11 QAT g€ €

4) Neither I nor II follows

FE A [3iRTE T R

Correct Answer: Neither I nor II follows
TR s [3RAR TS R

Candidate Answer: Only Conclusion II follows

Bact B 11 TE 81

Question 19.What is total number of triangles in the given figure?

A 4 € e e Foverd BT €2

)_

N P 4

Options:
1) 16

2)32
3)40

4)12
Correct Answer: 16
Candidate Answer: 16

Question 20.Identify the diagram that best represents the relationship among classes given below
Men, Rodents and living beings

Ig 3RW A S A g 77 i 3 e Ty 1 FE e w21



Options:
1)

\
—J | 1
WA

P

2)

™\

rTh
A

3)

|

/1 £\ N
|\
O/

4

—~
st

Correct Answer:

/1 AN N
OV
—
I |

Candidate Answer:

/1 AN N
OV
\N._/

Question 21.Which answer figure will complete the pattern in the question figure?

P ITR- 3BT F-3TGt &b FfAwT Bl G BT 2

TS

V7a

?

Options:
1

2)

mn
N/




3)

4)

A\
N | 7
Correct Answer:
Candidate Answer:
B
N | A

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

Qe IR phat H A 39 3BT B gAY S weT apfa fAfga 21

Options:
1)

2)

3)



4)

Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened

I 4T 3Mpiadl o AR BITST Bl ATSHN PIe TAUT TN &b dT1G I8 b ¥ AT ST feaTs & 2

DT T 1
20 1 |
1 1
X, N .
N I (o] 1
I
ML 'fo o\
Options:
1)
O O
O O
2)
O
e )
Q
(0)
Q
O O

3)



@,
o)

4

8, O

Correct Answer:
O
O
Q
(0]
O
Candidate Answer
O
O
Q
[0) |
Q
o ! ol ]

Question 24.1f a mirror is placed on the line MN, then which of the answer figure is the right image?

AfE T 0T BT MN IET TR & TG d § T IR 3epferal § I Bt 3mepfa wed smeshet o1 wét ufefera gt 2

M
y
o /
S 4 -
y
y
7
; s
4
N
Options:
1)

2)



3)

4)

Correct Answer:

Candidate Answer:

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives are represented by
two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are numbered from 5 to 9. A from these
matrices can be represented first by its row and next by its column. e.g. N can be represented by 01, 14 etc. and A can be represented by 55, 69, etc. You have to identify the set for the
word ‘GOOD’.

e wed o fasredt g 7y wear-wg, 318RT & a1 anif gRT 2IfT 7Y €, 59 fs e g 7Tg 2 s1megel # €1 3mmegg 1 3 weam 3iR fer om0 4 4 das & 1 €, 3R MR 116 5
F 9 T, 57 3TTHE! ¥ TP 31&R Bl Tgel 39! Ufen 3R a1e ¥ TAnT AT gRT SRAAT 517 HebaT 81 3aTeR0T & foit 'N' BT 04, 14 3777 GRT SR/ATIT ST HebalT 8 2T 'A' BT 55, 69 37T GRT
SRATIT ST HebdlT 21 3ATIePT &Y §Y 21e& 'GOOD' & feiv AHg Pl UgdrT 21

Matrix-1 Matrix-11

of 1 2 3| 4 5 6| 7| 8 9
0l Bl N[ G| Ll D 5 A I| K| O] R
1 G| L D| B N 6 I| K| Of R| A
2| Dl B| N| G| L 7] K| O R| A 1
3] Nl G| L| D] B 8 Of R A 1| K
4 Ll D[ Bl N| G 9 R| A I| K| O

Options:

1) 02, 58, 68, 04



2) 44, 99, 76, 20
3)31,67,76,22

4) 33,76, 86, 41
Correct Answer: 44, 99, 76, 20
Candidate Answer: 44, 99, 76, 20

Question 26.Among the following States, has the lowest birth rate in India.

HRA ¥ FrefafEa oot § & g 3o § S - gian € 2
Options:

1) Kerala

B

2) Uttar Pradesh

IR &

3) Bihar

faer

4) West Bengal

oo §me

Correct Answer: Kerala

BT

Candidate Answer: Kerala

Ll

Question 27.The Secretariat of SAARC is set up at

S BT AfTaTerd Bel (T § 2
Options:

1) Washington

gifelmet

2) Kathmandu

PISATE

3) Hague

Eul

4) New Delhi

7 et

Correct Answer: Kathmandu
PTSATE

Candidate Answer: Kathmandu

ProATg

Question 28.The outermost range of Himalays is called

TRHTeTa Y e aTedt udd Suft P A R 2
Options:

1) Kali

Eakil

2) Shiwaliks

ferarfere

3) Dehradun

g

4) Kumaon

PHS

Correct Answer: Shiwaliks

ferarfeies
Candidate Answer: [ NOT ANSWERED ]

Question 29.Who is generally considered to be the father of the Indian Renaissance?

HTTA: fobd YR GASTITROT BT STeb /AT SITelT & 2
Options:

1) Rabindranath Tagore

feeg: T2 BTHR

2) Raja Rammohan Roy

REINLELIEERC]

3) Mahatma Phule



HETHT ol

4) M.G. Ranade

TH. ST IMATS

Correct Answer: Raja Rammohan Roy
REIKLLIEERIC]

Candidate Answer: Raja Rammohan Roy

TSI IAHHEA T

Question 30.The longest river of peninsular India is

YRIGIUT YR b e ot 7t P I & 2
Options:

1) Narmada

Her

2) Godavari

TR

3) Mahanadi

HE

4) Cauvery

Correct Answer: Godavari

TeraRt

Candidate Answer: Godavari

TRt

Question 31. gives hardness to stainless steel.

FAfafea # ¥ fosad Ao e # BoRdT 31T & 2
Options:

1) Zinc

i

2) Lead

war

3) Carbon

BT

4) Tin

=

Correct Answer: Carbon

BT

Candidate Answer: Carbon

BT

Question 32.Which of the following is responsible for transport of food and other substances in plants?

FreafafEa ¥ 3 feay diul & wrer ueref 3R 37 daal &1 agT graT e 2
Options:

1) Xylem

GG

2) Phloem

TRAGH (F9aTE)

3) Chloroplast

FARTGRE

4) None of these

ST A BIg T8

Correct Answer: Phloem
TRAIYH (FIYATE)

Candidate Answer: Xylem
SIESLE

Question 33.The washing machine works on the principle of

PBUS UM 6 7N {5 fgra W &rf et 8 2
Options:

1) Dialysis

379TET

2) Diffusion

faor



3) Reverse osmosis
3chH TRTAR0T
4) Centrifugation

BB

Correct Answer: Centrifugation

Candidate Answer: [ NOT ANSWERED ]

Question 34.Which is not an external storage device?

FAffEa ¥ A B W aed ©RT fEarsy (@ HUsReT 79 TEl € 2
Options:

1) CD-ROM

qrE -

2) DVD-ROM
sSAS-Im

3) Pen Drive

REIEES

4) RAM

e

Correct Answer: RAM
EL

Candidate Answer: RAM
L

Question 35.Which of the following is the correct description of the term sex-ratio as used in the context of the census of population?

ST bl STTOAT & we § ' T 31gaTa ' 21 &1 e sref g 2
Options:

1) Number of males per 1000 females.

1000 f&AT o= go§! & HEaT

2) Number of females per 1000 males.

1000 G&ST R AT bl T

3) Number of females per 100 males.

100 oSt TR wfgersi 61 dwr

4) Number of females in a sample of 1000 persons.

1000 @faxial & wfdeef ¥ mfgarsi b dwar

Correct Answer: Number of females per 1000 males.
1000 G&ST R AT bl T
Candidate Answer: Number of females per 1000 males.

1000 ISt R Afgasi &l e

Question 36.The atomic power station in Rajasthan is situated at:

ISR % IRATY] e rr el R & 2
Options:

1) Pokhran

T

2) Suratgarh

RdTe

3) Rawatbhata

NEGLIE]

4) Chittorgarh

feriteTg

Correct Answer: Rawatbhata
NEGLIHE]

Candidate Answer: Rawatbhata

Question 37.The Sahitya Akademi Awards are given for best writings in how many Indian languages?

foeTt MRt WToT3Tt o Wafew ore 3 oy ATfecy srprert R oy s € 2

Options:
1) 12

2) 15

3)20



4)24
Correct Answer: 24
Candidate Answer: 24

Question 38.Right to Privacy comes under

ISTaT &1 31fUPR foeres 3neA 3maT 2 2
Options:

1) Article 19

3BT 19

2) Article 20

37 20

3) Article 21

I 21

4) Article 18

3BT 18

Correct Answer: Article 21
g 21

Candidate Answer: [ NOT ANSWERED ]

Question 39.The foreign traveller who visited India during the reign of Shahjahan was

2ATESTET & 2 BT N P17 el st e 3 & 2
Options:

1) Thomas Roe

ATAF T

2) William Hawkins

faferam gife

3) Tbn Batuta

FeTaq

4) Manucci

EEeeal

Correct Answer: Manucci
Candidate Answer: Thomas Roe
TR T

Question 40.The GST (Goods and Services Tax), recently passed by Government will be levied on which of the following products?

IRBR GRT &I & N U a1 77 o7, T, 2. e (A1t 3iR dar ) Fmfafad ® 9 357 3cmel W @ smem 2

Options:
1) Petroleum Crude
et srafigpa

2) Tobacco
GISIe

3) Natural Gas

T i

4) Aviation Turbine Fuel
T s S
Correct Answer: Tobacco
TR

Candidate Answer: Tobacco

RISIES

Question 41.Who was elected the Prime Minister of Nepal recently?

BT €1 § P JUTel & T HAt g T2
Options:

1) Keshav Kumar Budhathoki

P2A PR GOTPT

2) Khadga Prasad Sharma Koli

TS JHTG 2T BIed

3) Sushil Koirala

Feftel Prerar

4) Pushpakamal Dahal 'Prachanda’

T PHT a8l HeIvs'

Correct Answer: Pushpakamal Dahal 'Prachanda’
T BH alglel YeIvs'



Candidate Answer: Pushpakamal Dahal 'Prachanda’
g BHT alglel Yevs'

Question 42.Which lobe of human brain is associated with hearing?

AT Af&Tsp &1 I T uTfet sraor § Hafod & 2
Options:

1) Frontal lobe

IITATE UTfer

2) Parietal lobe

fifea e

3) Temporal lobe

o Tfet

4) Occipital lobe

Correct Answer: Temporal lobe

i e

Candidate Answer: [ NOT ANSWERED ]

Question 43.Which of the following is not soluble in water?

FAfefEa ¥ 3w 5ot § gereia 7€ € 2
Options:

1) Lead sulphate

s FRbe

2) Zinc sulphate

Sid aedhe

3) Potassium sulphate

areferm aethe

4) Sodium sulphate

HifeaH Tepe

Correct Answer: Lead sulphate

GERGtS
Candidate Answer: [ NOT ANSWERED ]

Question 44.Activated Charcoal is used to remove colouring matter from pure substances by

Frafafed # 3 fead gRT AfthT BIoBIIT BT FANT PBd §Y Y& ddl H 3 o1 varelf Pl ¥ fbar sTrar 8 ?
Options:

1) Bleaching

ot

2) Oxidation

3uTgqT

3) Adsorption

yfereiTeoT

4) Reduction

AT

Correct Answer: Adsorption

ffereieor
Candidate Answer: [ NOT ANSWERED ]

Question 45.Chernoby! disaster is the result of pollution by

TAffee HeTfaueT forads ugwoT &1 gRom & 2
Options:

1) Oil spill

e o

2) Acid rain

v gut

3) Carbon dioxide

B e HTRITES

4) Radioactive waste

et srufere

Correct Answer: Radioactive waste

STt srafere
Candidate Answer: [ NOT ANSWERED ]

Question 46.Which of the following caused radioactive pollution along the coast of Kerala?



P e RIS ered FguoT Ffafed 3 foq SRoT I g3m ?
Options:

1) Plutonium

2) Zinc

ST

3) Thorium

Rlite)

4) Radium

Afsaw

Correct Answer: Thorium

efaw
Candidate Answer: [ NOT ANSWERED ]

Question 47.In mammals, an important role of excretion is played by

TATHTRAT H 351 BT Vb Heaqu! B fHfcifEd H I PIF AT 31aed ear g 2
Options:

1) Large intestine

EEEIGH

2) Kidneys

T (@)

3) Lungs

BHs

4) Liver

o (@)

Correct Answer: Kidneys
T (@)

Candidate Answer: Kidneys
T ()

Question 48.The second Green Revolution aims at increasing agricultural output to promote

ol gRa seifr o7 32ea, FmfaifEa # ¥ fra S 3cme 1 9fg 3 FfFa € 2
Options:

1) Availability of easy credit to big farmers

2) Co-operative farming

HEBRT Hlt

3) Inclusive growth

s I

4) Development of rural sector

ITHOT &5 T Tl

Correct Answer: Inclusive growth

FFifde g
Candidate Answer: [ NOT ANSWERED ]

Question 49.Which of the following causes rainfall during winters in the north-western part of India?

HRA & 3R - gfeat v § ehaewra § fAefafed ® 3 fog eror 3 auf gt € 2
Options:

1) Western disturbances

gfegHt faainT

2) Cyclonic depression

EEZIGIEECE]

3) Southwest monsoon

<faror afeet AT

4) Retreating monsoon

et A

Correct Answer: Western disturbances

afea fgems
Candidate Answer: [ NOT ANSWERED ]

Question 50.The 'Blue Water Policy' was introduced by the Portugese leader

PN A YT AaT 7 ' & TR TRt % B &ff 2
Options:



1) Franscisco-de-Almeida
2) Alfonso de Albuquerque
AP ST Tegei

3) Francis Caron

I Be

4) Francis Martin

hife HIfeT
Correct Answer: Franscisco-de-Almeida
Candidate Answer: [ NOT ANSWERED ]

Question 51.If the sum of a number and its reciprocal be 2, then the number is

IfE Y HEAT 3R 3 hH BT ANT 2 B, A1 I8 FBAT febat gt ?

Options:
10

2)1
3)-1

4)2
Correct Answer: 1

Candidate Answer: 1

Question 52.The area of a rectangle in 60 cm? and its perimeter is 34 cm, then the length of the diagonal is

Teh 3TId BT &A% 60 aif J.HY. & 37K 39T ATy 34 .7 1 Y 39 fdemof &Y @ fbat gt 2
Options:

1) 17cm

17 3.1

2) llem

E:R:i

3) 15cm

15 QA

4) 13cm

13 3.1

Correct Answer: 13cm

13 3.1

Candidate Answer: 13cm

13 At

Question 53.A cloth merchant has announced 25% rebate in prices. If one needs to have a rebate of X 40, then how many metres of cloth costing T 32 per metre he should purchase.

T HULT-ATIRY 3 379+ BT H 25% B BT BNTUTT Y, TR At {5 BT T 40 B Be A1 8, @ 39 T 32 Ufd Hiex a1e U BT e Hiex HueT BRI 8 2
Options:

1) 6m

6.

2) Sm

5.

3) 10m

10 #.

4) Tm

7

Correct Answer: 5Sm
5.

Candidate Answer: 5m

5T

Question 54.A profit of Rs. 960 is divided between A and B in the ratio 1/3:1/2. The difference of their profit is :

Rs. 960 & @ BT A dT B H 1/3:1/5 & HFATd & gTeT 7T €1 3% THY BT 3 <l 81T 2

Options:
1) Rs.120

2) Rs.160



3) Rs.180

4) Rs.240
Correct Answer: Rs.240
Candidate Answer: Rs.160

Question 55.The average monthly salary of 19 members of a group is Rs. 16000. If one more members whose monthly salary is Rs. 20000 has joined the group, then the average
salary of the group is

19 | 3 Teb U BT 31 AT da Rs. 16000 81 A A1 39 T | Rs. 20000 HIHb I AT §eb 31T TeRA HT 210 1 ST, AT 39 U &1 A1 HIfHeb da e a1 STTea ?

Options:
1) Rs.18250

2) Rs.16200
3) Rs.18000

4) Rs.16250
Correct Answer: Rs.16200
Candidate Answer: Rs.16200

Question 56.A T.V was sold at a profit of 5% If it had been sold at a profit of 10% , the profit would have been Rs. 1000 more. What is its cost price ?

T . Y. 5% WM IR 9T 771 AT G 10% T TR T SATelT af Rs. 1000 T {6 A4 8111 39T 36d-ed TSy 2

Options:
1) Rs.20000

2) Rs.5000
3) Rs.10000

4) Rs.15000
Correct Answer: Rs.20000
Candidate Answer: Rs.20000

Question 57.The price of an article is decreased by 10%. To restore it to its former value, the new price must be increased by :

Teell o b e | 10% & AT B T B1 3 R Yed WA b e 7 qer A Tt g et gl 2
Options:
1)

9o
117°
2) 10%
3) 11%
4)

1110/
g

Correct Answer:

111‘V
g%

Candidate Answer:

1110/
g%

Question 58.A moving train passes a platform 50m long in 14 seconds and a lamp post in 10 seconds. The speed of the train (in km/h) is :

e T §g YTIS! foheit 50 ISR @RI Wie WTH Bl 14 HebUs H 37K Uep fasTell & TRY BT 10 Jhus H UR &l 81 YeTe! i arel (fd.Hl./aen e g 2

Options:
1) 24

2)36
3)40

4) 45
Correct Answer: 45
Candidate Answer: 45



Question 590 x2 + 1/x2 = 2, then the value of x - 1/x is

& x2 + 1/x2 =28, a x - 1/x BT 7 gd18T7 ?
Options:

1)-2

2)0

3)1

4)-1
Correct Answer: 0

Candidate Answer: 0

Question 60.

1
If pq (p + q@) = 1,Then the valueof ﬁ —p®—qiisequalto

e pq (p +q) = L&A - — p? — g1 AW T GT?

Options:
11

2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: 3

Question 61.A chord of length 16 cm is drawn in a circle of radius 10 cm. The distance of the chord from the centre of the circle is

16 .7, o1t Tep Sfiar Y 10 .7, 5o arey g & wiar SirdT &1 99 & P § Sitar Bl g8 gaTey ?
Options:

1) 8cm

8 {A.

2) 6cm

63

3)4cm

4.

4) 12cm

1297,

Correct Answer: 6cm

6 A

Candidate Answer: 6cm

6 A

Question 62.An angle in a semicircle is

et 37efger o 10T b B 2

Options:
1) 45°

2) 60°
3)90°

4) 120°
Correct Answer: 90°
Candidate Answer: 90°

Question 63.1f x = a cosO+ b sinf and y = b cos0- a sind, then X2+ y2 is equal to
fE x = a cosd+ b sind 3R y =b cosh- a sind &, a¥ x2 + y2 BT 7 T €T ?
Options:

1) ab

2) a2+b?



3) a2-b?

4)1
Correct Answer: a>+b?

Candidate Answer: a2+b?

Question 64.A can do a work in 12 days while B can do it in 15 days. They undertake to complete it together for Rs. 450. what will be the share of A in this amount of money ?

ATH BB 12 3T H 91 R FepaT & STafH B 3 15 T H Q1 9 HobaT 31 I 3 T A1 AT Rs. 450 W I BT AR 81 T 81 57 IR0 H A P g fderm arm 2

Options:
1) Rs.200

2) Rs.240
3) Rs.250

4) Rs.300
Correct Answer: Rs.250
Candidate Answer: Rs.250

Question 65.1f x = \2-+1, then the value of x*-1/x*is

& x = V2+1 B, a¥ x*-1/x* BT AF faam g 2

Options:
1) 8\2

2) 182
3)6\2

4) 2412
Correct Answer: 242
Candidate Answer: 242

Question 66.1f 9x2 + 16y2 =60 and 3x + 4y = 6, then the value of xy is

& 9x2 + 16y% = 60 31K 3x + 4y = 6 BT, A¥ xy BT HT T & 2
Options:

1)-1

2)1

3)-2

4)2
Correct Answer: -1

Candidate Answer: -1

Question 67.1f in AABC, DE || BC, AB = 7.5cm, BD = 6cm and DE = 2cm, then the length of BC in cm is :

gf& AABC, DE ||BC, AB = 7.59.H},, BD = 63.H). 31k DE = 2%.#. 81, a BC P! 7r1s J.1. o o/ 80t 2
Options:

1)6

2)8

3)10

4) 10.5
Correct Answer: 10
Candidate Answer: 10

Question 68.Suppose that the medians BD, CE and AF of a triangle ABC meet at G. Then AG: GF is

A oY fs it ABC fepioT &1 A1feiaTd BD, CE 31K AF fag G W fiewd! €1 @ AG:GF FT g 2
Options:

1)1:2

2)2:1

3)1:3

4)2:3

Correct Answer: 2:1

Candidate Answer: 2:1

http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjk=&appid=1a4fff78943b24af40c79deccf09bb87
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Question 69.
cos@ cos@

+ =4
If 1 —sin6 " 1+ sind then

the value of 8 (0<8<90°) is

cos @ cosf — i )
qﬁm'{'m 4,31.6‘0 <6<90°)ﬂmm

Options:
1) 60°

2) 45°
3)30°

4) 35°
Correct Answer: 60°
Candidate Answer: 60°

Question 70.A sum of Rs. 2000 amounts to Rs. 4000 in two years at compound interest. In how many years does the same amount becomes Rs. 8000.

Rs. 2000 &Y 1f3T TIehqfie aTeT TR 2 a9 & Rs. 4000 8 ST &1 78 0fer fba asf # Rs. 8000 €1 STQHY 2

Options:
12

2)4
3)6

4)8
Correct Answer: 4
Candidate Answer: 6

Question 71.Two ships are sailing in the sea on the two sides of a light house. The angle of elevation of the top of the light house as observed from the two ships are 30° and 45°
respectively. If the light house is 100m high, the distance between the two ships is :(take V3=1.73)

FY= W &l UTd Tprer iH & A1 3R I 38 §1 1 Tl I ST TR TSI T & 2T P I P17 SHHer: 30° 3R 45° €1 A HepTer WM 100 HIeX e 8,1 a1 dial & ate bl gt
FaTgY ? (IE A g¥ fF V3=1.73)
Options:

1) 173m

173 #t.

2) 200m

200 7.

3)273m

273 W,

4) 300m

3007

Correct Answer: 273m

273 W,

Candidate Answer: 273m
273 7.

Question 72.The following figure shows the number of students (in thousands) admitted and passed out per year in a college during years 2000 to 2004. study the figure and answer
the questions.

Frafafea smgpfa # faet wroet & adf 2000 I a9 2004 Ta T e Wl gu 3R 3ol g7 BT &1 dwar (TR W) SRATH 7€ &1 377eB(T BT 3720 o 7T & I ISy 2



12 ® Admitted

o passedout
T 10

Number
of g

Students

(1000)

2003
2000 2001 2008 LT 2008 T 2008

The percent increase in the number of students admitted in the year 2003 over that in 2001 is

T 2001 &1 g1 H g 2003 F et gy BT Bl T § g€ ufderd gig fhat & 2
Options:

1)1333

2)333

3)403

4) 66.7
Correct Answer: 33.3
Candidate Answer: 33.3

Question 73.The following figure shows the number of students (in thousands) admitted and passed out per year in a college during years 2000 to 2004. study the figure and answer
the questions.

fAAfafaa smepfd # it wieet # avf 2000 & @ 2004 T i av Wl §Y 31K Iftof gu o &F e (8T # ) A 7 31 377epfa &7 3120 I HeAl & I Afeig 2

B Admitted

12

® passedout
T 10

Number
of g

Students

(1000)

2000 2001 200! 2004

2 Year i}
During 2000 to 2003, the ratio of the total number fo the students passed out to the total number of students admitted is

T 2000 F 2003 F Wl T BT BT ot T 31K Ieftof gu BT B B JWAT BT AT 1 BT 2

Options:
1) 17/23
2) 17/6
3)11/23
4)5/7

Correct Answer: 5/7
Candidate Answer: 5/7

Question 74.The following figure shows the number of students (in thousands) admitted and passed out per year in a college during years 2000 to 2004. study the figure and answer
the questions.

FfefEa smefa ¥ it wrest & axf 2000 J af 2004 e fer avf el g7 31k Ixfof gu BT B T (eI # ) A 7 21 37T o1 3rezrem R et & 3w g 2



12 ® Admitted

o passedout
T 10

Number
of g

Students

(1000)

2003 2004

2000 2001 2002 Yeoor 3
In which of the two years, the pass percentage of students was between 60 to 70 ?

PIF-F 2 auf ¥ BT BT JA0f ufderd 60 F 70 F & off 2
Options:

1) 2000 and 2001

2000 3R 2001

2) 2003 and 2004

2003 3R 2004

3) 2001 and 2002

2001 37 2002

4) none of these

STH A Bl T8I

Correct Answer: 2000 and 2001
2000 33K 2001

Candidate Answer: 2000 and 2001
2000 31R 2001

Question 75.The following figure shows the number of students (in thousands) admitted and passed out per year in a college during years 2000 to 2004. study the figure and answer
the questions.

FrafafEa smgpfa # faset wroet & adf 2000 F a9 2004 T T e ol gu 37k 3ol g7 BT &F Twam (TR W ) SRATH 7€ &1 377 BT 3120 o 72T & IR Ao 2

12 ® Admitted

® passedout

Number
of g

Students

(1000)

2000 2001 2002 2003 2004

Yo

The ratio of the number of students admitted in the year 2002 to the average of the number of students passed out in the years 2003 and 2004. is

T 2002 H ¥elf §C BT B FwAT 3R av 2003 FT 2004 H Ieiof gT BT BT HEAT P 3id BT 37T TaATSV 2

Options:
1)7:8

2)8:9



3)9:8

4) 8:7
Correct Answer: 8:9
Candidate Answer: 8:9

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button corresponding to it.

REVILE

Options:

1) REVIVE

2) REVIEW

3) ABUSE

4) REVEAL

Correct Answer: ABUSE

Candidate Answer: REVIEW

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding to it.

SQUANDER

Options:

1) SPEND

2) REDUCE

3) SLANDER

4) SKIMP

Correct Answer: SKIMP

Candidate Answer: REDUCE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Sanctaries

2) Sanctauries

3) Santuaries

4) Sanctuaries

Correct Answer: Sanctuaries

Candidate Answer: Sanctuaries

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button corresponding to it. If the
sentence is free from error, click the “No error” option.

He had already sent me message (A) / that his arrival (B) / was scheduled for Thursday (C) / No error (D)
Options:

DA

2)B

3)C

4D

Correct Answer: A

Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button corresponding to it. If the
sentence is free from error, click the “No error” option.

Science and technology and (A) / their fallouts do not (B) / complete human culture (C) / No error (D)

Options:

1HA

2)B

3)C

4)D

Correct Answer: B
Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button corresponding to it. If the
sentence is free from error, click the “No error” option.

The angry bird flap (A) / her wings, flies a short (B) / distance and returns. (C) / No error (D)
Options:

DA

2)B

3)C

4D

Correct Answer: A

Candidate Answer: B



Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question, choose the correct
alternative and click the button corresponding to it.

The clock has for want of winding.
Options:

1) run down

2) run short

3) run past

4) run up

Correct Answer: run down

Candidate Answer: run down

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question, choose the correct
alternative and click the button corresponding to it.

Few people know that flowers use texturesto _ different kinds of insects.
Options:

1) signal

2) feel

3) attract

4) distract

Correct Answer: attract

Candidate Answer: attract

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question, choose the correct
alternative and click the button corresponding to it.

They abandoned their comrades the wolves.
Options:

1) by

2) between

3)on

4) among

Correct Answer: among

Candidate Answer: between

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase and click the
button corresponding to it.

For keeps

Options:

1) Himself

2) Away

3) Forever

4) Hid

Correct Answer: Forever

Candidate Answer: Forever

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase and click the
button corresponding to it.

Pale into insignificance

Options:

1) Seemed less important

2) Was less exciting

3) Was less hectic

4) Was dull and pale

Correct Answer: Seemed less important

Candidate Answer: Seemed less important

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase and click the
button corresponding to it.

With one voice

Options:

1) By one man

2) By one community

3) Unanimously

4) In disharmony

Correct Answer: Unanimously

Candidate Answer: Unanimously





